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•

•

•

𝑉 = 𝐼 × 𝑅

• V

• I

• R Ω

Ω











𝑉 = ?
𝐼 = 0.2 A

𝑅 = 7.5 𝛺

𝑉 = 𝐼 × 𝑅
𝑉 = 0.2 × 7.5
𝑉 = 1.5 V

𝑉 = 9 V
𝐼 = 0.3 A
𝑅 = ?

𝑉 = 𝐼 × 𝑅
𝑅 = 𝑉 𝐼⁄
𝑅 = 9 0.3⁄
𝑅 = 30 𝛺

𝑉 = 3 V
𝐼 = 20 𝑚A

= 0.002 A
𝑅 = ?

𝑉 = 𝐼 × 𝑅
𝑅 = 𝑉 𝐼⁄
𝑅 = 3 0.002⁄
𝑅 = 1500 𝛺
𝑅 = 1.5 k𝛺

Potential difference (V) Current (A) Resistance () 

 2.3 100 

100  25 

9 0.005  

 0.02 600 

1000  10 000 

230 13  











𝑉 = 𝐼 × 𝑅
𝑅 = 𝑉 𝐼⁄
𝑅 = 10 0.44⁄
𝑅 = 22.7 𝛺 (𝑡𝑜 3 𝑠. 𝑓. )

Ω

𝑉 = 𝐼 × 𝑅
𝑅 = 𝑉 𝐼⁄
𝑅 = 4 0.37⁄
𝑅 = 10.8 𝛺 (𝑡𝑜 3 𝑠. 𝑓. )

 

 

 

 













 

Site Potential difference (V) Current (A) 

A 12 0.030 

B 6 0.012 

C 12 0.015 



•

•

•

• 

𝑅 = 𝑅1 + 𝑅2 + 𝑅3 …

• 

• 



 𝑅 = 𝑅1 − 𝑅2 + 𝑅3







𝑉 =  12 𝑉
𝐼 = ?

𝑅 = 60 𝛺 + 60 𝛺
= 120 𝛺

𝑉 = 𝐼 × 𝑅
𝐼 = 𝑉/𝑅
I = 12/120
𝐼 = 0.1 A

𝑅 = 10 𝛺 + 2 𝛺
= 12 Ω

𝑉 = 6 𝑉
𝐴 = ?

𝑉 = 𝐼 × 𝑅
𝐼 = 𝑉 𝑅⁄
𝐼 = 6 12⁄
𝐼 = 0.5 𝐴 

 

  

  

 

 

 

 



 

𝑉 = 𝐼 × 𝑅 
𝐼 = 𝑉 𝑅⁄  

= 4 20⁄  
𝑅 = 0.2 𝐴

 

𝑉 = 𝐼 × 𝑅
𝑅 = 𝑉 𝐼⁄

= 8 0.2⁄
𝑅 = 40 𝛺 

 

𝑉 = 𝑉1 + 𝑉2

𝑉2 = 𝑉 − 𝑉1

= 12 − 4
𝑉2 = 8 𝑉

 

𝑉 = 𝐼 × 𝑅
𝐼 = 𝑉 𝑅⁄

= 4 16⁄
𝐼 = 0.25 𝐴
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 

 









 



•

•

•

• 

• 

• 

𝐴 = 𝐴1 + 𝐴2 + 𝐴3 …

• 

𝑉 = 𝑉1 = 𝑉2 = 𝑉3 …











𝐼𝑇𝑂𝑇𝐴𝐿 = 2 × 𝐼
𝐼 = 𝐼𝑡𝑜𝑡𝑎𝑙/2

= 4 2⁄
𝐼 = 2 𝐴

 

𝑉 = 𝐼 × 𝑅
𝑅 = 𝑉 𝐼⁄

= 12 0.3⁄
𝑅 = 40 𝛺 

 

𝑉 = 𝐼 × 𝑅
𝐼 = 𝑉 𝑅⁄

= 12 20⁄
𝐼 = 0.6 𝐴

 

𝑇𝑜𝑡𝑎𝑙 𝑐𝑢𝑟𝑟𝑒𝑛𝑡 = 0.3 𝐴 + 0.6 𝐴 = 0.9 𝐴

 

 



 

 

 

𝑉 = 𝐼 × 𝑅 
𝐼 = 𝑉 𝑅⁄  

= 10 40⁄  
𝐼 = 0.25 𝐴

 

𝑉 = 𝐼 × 𝑅 
𝐼 = 𝑉 𝑅⁄  

= 10 20⁄  
𝐼 = 0.5 𝐴

 

𝑇𝑜𝑡𝑎𝑙 𝑐𝑢𝑟𝑟𝑒𝑛𝑡 = 0.25 𝐴 + 0.5 𝐴 = 0.75 𝐴

 

𝑉 = 𝐼 × 𝑅 
𝑅 = 𝑉 𝐼⁄  

= 10 0.75⁄  
𝑅 = 13 𝛺












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
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